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ARYR U9 PR 5D DY AR N 11710 927
And v''1 says even if he does not recall it independently

OVERVIEW
There is a dispute between X177 27 and 737 727 concerning the rule that one
may rely on his personal notes to testify before 7"v2. 17" maintains that he
may use these notes only if he remembers parts of testimony without the
notes; then he may use the notes to fill in the rest. °"9, however maintains
that even if he remembers nothing without the notes he may still offer
testimony based on the notes. M201n will be offering various views as to the
permissibility of relying on notes and not violating the rule of *5» X7 oon'
0an>', in view of the fact that a 7w, which is presumably 2an> *97, is always
accepted as valid testimony.

- 7999 20w > Yy ax 'wys
The explanation of the phrase "a¥yn 77217 PRWw 5"VX', does not mean that he
does not recollect the testimony at all; even after he reads the “vw. Rather it
means that he does not recollect the testimony independently — 12x¥vn, before

he reads the 70w; however through the reading of the =vw he recalls the
testimony.

- DAND 2911 XYY DNYONT XY HY 1997 PN ON YAN
However if he does not recall the testimony at all, even after he reads the
7uw; then he is not permitted to testify. The reason is, for the testimony

must come ‘from their mouths, and not from their writings’. The 7mn
writes? 727 DP* N 0TV "I *9 9Y; substantiation of a fact is accomplished through two
witnesses. The 2311 interpreted the words * 9y, literally; ‘through the mouth’. The
testimony of 2>7V is valid only when it comes from their mouth; but not if it comes from
their writings. Therefore in our case, even though the o7y are testifying ‘with their
mouth’; nevertheless since they do not recall the testimonys; it is based solely on their
writings, therefore it is considered 0an> "5 and the M7Y is invalid.

moon will now prove that testimony which is based solely on the W, is invalid when
the 0>7v who present it, do not recall it at all:

" The term "W’ (or Im122) in *"w and Moo (usually), indicates that the valid explanation is different
from what one may understand from a cursory reading. Here too ndown is rejecting the following
explanation.
10,0 (2'0ow) oAt
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= PYITPA IIT NIPN KD N1 2391 23) (0w 3,85 97 mma) PHN 7T P93 199K

As the X713 states in 1R '7 P95, concerning the discussion as to why they

did not institute that a 7P “VWY should be dated (similar to a v3; which is
dated) —

=109 1Y 99997 N 3ﬂ"1)’ 1) NPT NINPT

Where the X3 said; should we leave this dated w17p "vw by the

witnesses; then let us see, if the 07y remember when the 1217p took place

let them come forward to 7"°2 and testify when the 1v1Tp took place; there is no
need that it be written in the PYY7p WV —
= DANI 291 XYY NN NINN 99N 211D1) INNI NANI2 1TNT 1231998 XY IN)

And if it will be in a situation where the 07V do not remember when the
TP took place, then we cannot leave the 7ww with the 27y, for
occasionally when the 27y will forget the date, they will look in the
written 7177 "vw and they will come to 7"2 and testify orally, the date
which they saw in the 70w. The problem with that is, but the Merciful One
stated in the 770 that witnesses are valid only amisen, but not 22an> 2. This
concludes the citation of the X} in Mna°. It is clear from that X »3, that the oral

testimony of 07y which is based solely on a 7ww (where they have no recall®), is
considered 02an> "o and is an invalid testimony.

mooIn asks:
= H0WN DY MTY 2INIT 13990N KD INNIN 913 NN 99NN ON)
And if you will say; why do we not forbid here (in our X7n3) as well,
writing the testimony on a “ww. The 73 stated that a witness may write down his
testimony to assist him in testifying at a later date. Concerning a w17 70w we do not
allow it to remain in the possession of the 07y, for we are concerned that they may use it
to testify even if they totally forgot the n17v. Here too, why is there not the same concern
that —
= DN 1PYINTI NANIN YTNDNY INNY 292)Y NIV NNY

Perhaps the 7v will totally forget the testimony and will nevertheless come
to 7"2 and testify based only on what he has written in his 70w, as we are

concerned there, by the Pv17p 70w?! Why, on one hand, do we not date a 7wY7p 0w,
out of concern that it may eventually turn out to be 22n3 *7»; and here, on the other hand,
we permit 7Y to write their testimony, and we are not concerned that it may turn out to

? The x7x there explains why the Juw cannot be placed by either the husband or the wife.
* The X1 there [when rejecting this testimony] certainly includes the case where the 2°7v do not remember
at all (according to "9, the X7n3 may also include a case where he is reminded by the W)
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be 0an> "on?!

Mo0IN answers:
= H0YN 1Y D900 17 NXAY 29T DINON YN ONN INTIT 9210 Y

And one can say; that certainly there (by a Pv17p 7uw) the 29251 were
concerned that it may turn out to be 22n> *d7, for there the 7''52 delivers the

"W to the 7v; after the man gives the ww to his wife, 7"2 will deliver the 70w to (one

of) the 0°7v. Therefore there is indeed a concern —
= 9191 RJ IPPAN TPV 1D 1MII01) 795V 9130%

For the 7v will assume that indeed this is the reason that they delivered
the 7uw to him, in order that he should be able to testify even if he does

not remember the testimony (otherwise why are they giving him the 0w) —
= 95 029N YN XY Y0WN DY MTY 2D 1M¥YNIY NN YaN

However here where he is writing the testimony on the “vw on his own
volition; 7"°2 had no part in it, therefore the 23221 were not concerned for
the violation of 0ana »on &9 omon. The omon did not assume that the 0’7y will consider

this permission (to write down their testimony), as a right to testify 0an> o»n (if they
cannot recall the 7).

mooin asks an additional question:
= YNNI RANOD 1TH 1NN NI INHNY 9NN ON)

And if you will say; why indeed are they not permitted to see the =uww

w172 and testify (and similarly here also to testify from his note) even if they do not

remember anything —
=N YOV PNNIY 2 (x,nop 97 x9ma x32) VIV V) 1IN NN

For we have learnt in a mwn» in ©wp v P79; if someone’s 1''vw was
erased and he was concerned that he will not be able to collect his loan with this n"vow,
the m>n should —

= 2119 199 XN WA PP 1Y P 177535 XY BOTY 1YY TINRYN
produce witnesses who are familiar with what was written in this 0% and
the M%n comes to 7''sa with these 2°7v and 7"2 will validate a 70w for him,
and the X9%3 there explains what this validation is. This validation is based on
27y who merely saw a 7vw. They were not present at the loan. Their testimony is

completely 0203 *9»; it is what they saw written in a 70W. It seems identical to the 7v who
testifies what he reads in the note, when he does not recollect anything. How can 7"2

> It is not clear why Mon mentions this. 5w a"7ma .
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grant the M a new 7w based on a testimony of 0an> *on?1° It is evident from that mwn
that an ‘oral’ 0an> °o» can be a valid testimony.7 This contradicts (our X3 as well as) the
X713 in N1M2°, concerning a PYITR OW.

mooIn will bring an additional example that seemingly an ‘oral” 22n3 "on is valid.
= 19530 DY PIMIVY GV 32) 199NT (x,ny 97 xnp Na2) NP I1NNA 1)

And similarly in 8%p 5137 P79, where the Xax states concerning the
ruling that if one burns the notes (of debt) of his friend -
=915 DTN 2911 NV
He is exempt from the judgment of man; 7" cannot obligate the 37 to pay
for the loss that he caused to the 7171, etc.® The X3 comments on this —
= R90VY2 N2 21N NN NN YYTT YTV NIINT N 197 N
How is this case like: if there are witnesses that know what was written
in this "vw that was burnt,” then —
= NIINN NIOVY 1D 21N
Let 7"°2 write a different 9w for the m%»! There is no loss. He will be able to
collect with this new =vw. This ends the citation of the X n3. m»®oIN concludes the

question:
- DANI Y91 XY DN9NM NY 19%AVUN KD NIIN

It is evident (from the two M3 in 2"2 and p"2) that we do not consider

this to violate the ruling of 2an> 5» XYY 2779D1; even though their entire
testimony is based only on what they read in a 70w! Let us say the same here and in n»2°.
When the 27y testify orally it is an acceptable testimony even though their testimony
relies completely on the “vw.

moon differentiates between the 02n> *97 in M»2° and the cases of 2"2 and "2:
= DNV YTNUN NN NNJT 1IPYWIN (0w 3,85 mna») PHN 7T P92 99D W

And one can say that in PR '7 P99 (concerning the W17 W) we are

concerned that perhaps the 0°7v will come to 7"°2 and testify regularly —
= MTYN P99 IDIND

% If an 7v who was present by the incident cannot testify from a 7uw if he has no recall, then certainly one
who was not present at all at the incident should not be permitted to testify from a qvw.

7 moon argues (at this point) that the %109 of 2an3 *o2 should apply only in a case where the 7v is an o%X; he
cannot speak. Alternately, it may only apply in cases where the 0>7v do not testify orally at all; they merely
send in their testimony 2022 to 7"°2. However when they testify orally in person, it should be a valid
testimony, even though they rely completely on the qvw. See ‘Thinking it over’ # 1.

¥ The reason is that he merely burnt papers which have little or no intrinsic value. It is considered a P
72°1 1Rw. The fact that he caused him damage, by burning the m"vw, is considered merely a X173 — an
indirect cause of loss — and the ruling is that 7112 X173 is 7w5.

’ This means that they saw the q0w; however they were not (necessarily) present by the loan.
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as if they actually remember the testimony; when the Pw17p took place. This is
considered 0an> *on. The 7Y do not independently know when the w172 took place
(they are merely repeating what they read in the 70w), but are testifying as if they do
remember. The manner of their testimony renders it a 2n3 .10

= DAND Y91 RYY DNON YN NI NN NN INT 7OV DY1O¥1) 1N ON INT VAN

However, certainly if they would testify that this is what they saw in
their signed document; in the Pw17p "vWw; that testimony would not be

considered that it violates the rule of 2an2 5% X 2;7130%. The reason is —
=17 %22 IMTY NIPNIY 220 AYY) 90VUN Sy 1PINNN OXTYT

For witnesses who are signed on a "ww, are considered as if their

testimony was fully investigated and substantiated in 7'"'52 —
= 17 5122 NIPNIY MTY 1IRD PTI9I 199N 5

And when these o7y testify that they saw what was written in the signed
Tow, it is as if they testify we have seen a testimony which 7''s2

investigated and substantiated. This is considered a valid testimony. Similarly when
they testify what was written on a signed 7w it is also a valid testimony.'' This also
explains why in 2"2 and in "2 the 2>7v are believed to testify what the saw in a 21017 0w

In summation; 2>7v may testify what the 70w stated, provided they state clearly that they
saw it in a "w. However they may not testify what the 70w stated if they are testifying as
if they actually remember the incident.

mooin asks an additional question:
=197 %32 190V X223 792 N1 YYD NI NT PPN 1PN XN 9NN ON)

And you may ask; and here (where he is not permitted to testify what he
wrote in his journal), even if this 7V does not recall his testimony at all
(even after reading his journal); what of it; let him bring his journal to

7'"92! Why do we say that if the 7v does not remember the testimony at all, he cannot
testify at all?'? Let him show 7"2 his ~ow." It is seemingly not different than the 2>7¥ (in
2"21 p"2) who testify what they saw in the !

Mo0IN answers:
= DY IV 12 VIV INN NON 90V 22UN R 90WIA TAN TYT 91217 W

' They are testifying that they witnessed an event; when in fact they do not know that this event took place.
All they know is that there is a 7uw that states they were present when this event took place. Other
commentaries claim that this is really a 2109 of 7 "1 79 (rather than 0an> *on). See footnote # 21.

" This is also (part of) the explanation why every 20w is not invalidated on account of an> *on.

"2 1t seems from the X7»3 that if he is does not remember the nM17y; there is no way that he can testify.

" See “Thinking it over’ #2 & 3.
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And one can say that if only one 7¥ signed in a journal, that journal is not
considered a aww. The rule of M7V TPMIY 12 WY1 WOWH HY DAINNT DTV
7"°22 does not apply to a document that is signed by only one 7¥, but rather

only a document, in which there are two 27y, as signers, is considered a 0w,

with all its ramifications —
= MIPN 9907 NIT

similar to the 'mpn 959" (‘the book of acquisition’) which is mentioned by the X231
.t Many rules of nvw are derived from there, including that a Jvw requires two
0>7y in order to be considered a valid "vw. Therefore since in our X i the journal was
written (signed) by one 7V only, it is not a 70w. We cannot say that the 7V is testifying on
something which was 722 1m7y 77pm1.

In summation; 0°7¥ may testify what they saw in a 7w; provided that it is a valid 0w,
signed by two 20°7¥. They cannot testify what they saw in a document (without two 2>7V),
unless they are reminded of the testimony.

mMooIN anticipates a question:
= 1999081 PN N9 HYA NN 1Y YOI THN 1Y (x,nop 97 8IN2 833) VIV V)2 9INT NN

And that which the &%) states in v1w2 vx P79, that we cannot combine

the testimony of one 7¥ in a =vw and one 7¥ orally" -
= 1999081 MIIN SNV ITAN 9OV DY NI ¥NHIYNT

This indicates that if however both 0’7V testified in a ww, even if the

testimony was in two separate journals their testimony may be combined
for a valid testimony.'® This seems to contradict what moon previously said that a one 7v
journal is not considered a v at all.

Mo0IN answers:
= 90Vv1 TANNAY 112 29N ONN

There the X7 is discussing a case where for instance (only) one 7V signed

on the "Ww; that there was a loan —
= MY MYN TOYN NN ANIY NIN MYNN NN NIRIY 9INY KD N9 Hya TONM

And the one 7¥ who testified orally, he is not testifying that he saw the
loan; for if that were the case even if both testified in two mnvw that they
saw the loan it would not be a proper 0w, but rather the 5"va 7v is

RS

' This is the opinion of *ax; however "X disagrees and maintains that they are A70».

' Otherwise the X3 should have said 19I0XN PR "IW w3 X" AT 0w1A X 7Y, this is a greater W17°1 than
5"ya R"¥Y w2 R"Y.
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testifying that he saw the delivery of the "uw (which the other 7v signed)
from the borrower to the lender. Therefore it is a valid 70w —

- 5599 719501 519 9NNT ATPIN ¥295 HOWA DIMNNN DIV HAT
For then it is as if two 0’7V signed on this "vw, according to X''% who
maintains that the 2>7» who testify concerning the delivery of the “vw,

they are the ones who validate the ~vw.'"® However if both 2>7v would sign on
separate MvW it would not be valid; for a MW with one signature is no WY (unless there
are ;777°01 YTY).

mooIn gives an additional answer for the X713 of 5"vy2a XR"y1 w2 K"V:
- DY 0NN DNIVY 1IN DY /N 1Y W91 T3nvwinraT m

And furthermore in "m%219° 750 it is explained that =wwa X"¥, means

that there were two 27y that signed on the "vw; however —
- 9Y YV 17 AN BPY INSN R TN YW 11> AN 1mD)

They were only able to authenticate the handwriting of one of the
witnesses, and they were not able to authenticate the handwriting of the

second witness.”’ The case in 0w 1A is discussing a Jvw with two 0°7v. However a 0w
with only one 7¥ is not a valid 70w, as M0N0 previously stated.

mooIn concludes:
= 90V 2PYN XY THN T¥7 M) DIPN Do

And nonetheless, granted that an X"y on a document is not considered a
now -

-2l san 199 199 123UNT TOYA 19X T2 1IN OTY NI ONY 1YY
Regarding a case where if 2>7» come and testify this is what we saw in a
Tuw signed by one 7¥; in that case it is not a valid testimony, for we will

consider it as hearsay; a witness repeating what he heard from another witness,

which is not a valid testimony. However; this note itself —
= 1>7 %27 97 AN MIYY 9199 M1 NN MTY

" The word >n13 literally means to ‘separate’. This term is used because the ruling of X"7 concerning *7v
77°om was initially stated by 7v°3. Therefore the term used is °n7> 77°0n *7¥; the 77°0n 7 actualize the
divorce. However X"1 maintains "n73' 77°0n >7y, by all mAvw. This means that even if no 0°7v signed on the
quw it is a valid "W, provided that two 0°7v saw the delivery of the 1w from the m? to the mn.

'8 One of the 71°0n *7v is the one who testifies 2"va and the other 77°0n > is the one who signed on the
vw. He is also considered as one of the 777°07 *7¥. See KX 11"7 MdOIN there in 2"2. However, 2K maintains
that it is 7100 nevertheless, since the two 77°0n *7v do not testify in the same manner.

19 9"3 2"5 man3. In our texts on X2’ A7.

% A third witness came and substantiated the testimony of the quw orally; he was present at the loan.

*! See footnote # 10.
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Is considered a valid testimony, and an 7V may send his handwritten note

to 7'"92 as a valid testimony —
= MHTYN 99T NINY 19°9 DAND 291 XY DN’91N PUN XD

And it is not deemed to have violated the restriction of 2ans “s% XY amen,

since the 7V remembers the testimony. It may be difficult for the 7v to appear
before 7"°2; therefore he may deliver his testimony in Writing.22

To summarize; an 7¥ who is reminded of the testimony from any written document is
permitted to either testify in 7"2 personally or to send the document as a testimony.
However an 7v who does not remember the testimony at all, may only testify what he
read in a valid "vw signed by two 2°7v.

mooIN cites an opposing view:
= 197 520 IMTY N3 NHY?I NDY DIAND 91 NI DNON UNIND W10 WD Y7Y)

And >"w1 in his explanation on w1 explained™ the 7105 of o7 K9 amen
22n> to mean that the witness may not sent his handwritten testimony to
7'"a.

mooin offers a different approach to resolve the difficulty from v1ws vx P79, from where
we attempted to infer that an vw2a X"V is valid:
= 90V D9 NN TYT PNY 13929 9NIIN 993 ON

Or if you wish you may also say according to the %' that the signature of

one 7Y validates a "vw, and -
= 2YY 90V 2N AN 1Y DINN 1NN D93 MIVY Y VI ON

If there are two mvw, one 7Y signed on each VY it is considered as a

complete and valid 9ww. This explains why »aX in 1W5 v} maintained that only X"V
9"va R"Y1 q0Wwa is 9109; however two X"V in two N10W is W2 —

Mmoo anticipates the obvious question —
= 995 9191 19N 1P2AN 127 792D 1N N2 PNYNYA )3 ONX NI *I)

And if you will say; if this is so, that an "vwa X"V is 20w 2wn then in our
case let him bring his handwritten journal to 7''>2 even if he does not
remember at all! Why is his handwritten note less of a 20w than a X"v2 0w?!

Mo0IN answers:

2 It seems from Moo that the exclusion of 2an3 *om is limited to testifying from a note without
remembering the facts.
0,00 (2vow) 20T,
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- DY NPT NYPYI XONX Y0V 2PUN XDT 915 v
And one can say that in order to be considered a "uvw, it is only when it is

written with the knowledge and consent of both parties; the m», whose
consent is assumed since the VW is in his favor, and mainly —
= 90V YN IN 29N NINY MYN Ny
With the knowledge and consent of the ;1% who is being obligated by the
7vw; only then is it considered a =ww. Therefore in vYWws vX if two 07y signed
separately on two M1vw they are valid mnvw, since each VW was written 210N NV —
= NYOY 2PUN XD MDD NYTH XOW IMTY amoY oD DaN
However here, where he is writing his testimony without the knowledge
of the mY; the MY is not aware that the 7¥ is recording this testimony,
therefore this self-serving journal is not considered a 9ww. Therefore he cannot
use it to testify before 7"°2 based on this note alone, for since it is a self serving document

which was written without the consent of the MY, it is not a "W and therefore it is subject
to the stricture of nan3 *on &9.

In summation; according to this view, one may testify what he saw on a document that
was written 2»1nna Ny (even if signed by only one 7v),>* without being aware of the
incident. If it was not written 2»1nni nYTA, then this document may be used only if the 7v
is reminded of the testimony.

mooin asks an additional question:
= (0w 8,0 97 XN Ka3) DINAN NPIND IINRT V97999 INIIVY 29 290 AYPM

And X 2" from Verdun asked that the X773 states in 2°nan NPT P70 —

- 21179 9319 7098 PN 02w %193 ANNN
A protest against one who is (allegedly) occupying the protester’s field is to
be made in the presence of two 0’7, and the protester is not required to
tell the 0>7Y write down this nxnn. Rather even if he does not request that they write
the 7Xmn, the 0>7v are permitted to write the AXMM and hand it to the 7yyn as a proof that
he made a nxnn to nullify the 7P, This concludes the citation from the X713, NMBOIN

continues with his question:
= PRHNN NYTN MYY PPRT 1999 120D D391 NN

But what will (even) telling the 7V to write accomplish, since it is not

* See ‘Thinking it over’ # 4.

 The X3 actually begins on 19102 2,17 A7.

* The rule is if someone occupies a field for three years and claims that he bought it from the previous
owner, the occupier may retain the field even if he lost the deed; provided that the previous owner made no
protest during the entire three year period.
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written with the consent of the 3117, The p>imn, who is currently occupying this
field, is the 21n» in this case. This XM W is detrimental to his ownership of the field.
He did not give any consent to write this fxn» “ww. Therefore this AXMAn VW is not
considered a Tww. Of what avail is this 0 to the 2y7yn?! It is considered 0and o7, since
it is not a valid 70w. The 7y7¥n cannot use this XM VW to prove that he made a ARAn, it
1S 02N2 "On.

Mo0IN answers:
= 929V NN NTYN 92NV 11T DI %N NN MTYT 1NVYIY NN 29

However, according to what we previously explained that a self serving
journal is considered a valid testimony as long as the 7V remembers the

testimony, the ruling is well understood. The o>7y write the 7%n» T0w and it may
be used in 72 as long as the 0>7v remember the testimony (even from this 7XA7 WW).

mooin offers an additional answer to the question of 7"77 SRMAWw 2"7:
- 71339412 NYN NIRY 19990 ANNM 22T PNYY 13539 YINN AT XY 19N

However, without resorting to the previous answer, the 5" explains that
there is no difficulty, for concerning a ixm» which is only a 3129 issue, the
0101 were lenient and do not require 75, but even 0an3 *on is also sufficient.

mooin offers proof that since R is only 112777 therefore the were 2pn:
= YV KXY 09¥9YY 29 DY GN ANNND N 12392 NHY NANNNT 991D 19PN ) 99NY

For in a similar manner the 2251 were also lenient, saying that a axm»
not in the presence of the P°11n is a valid 78m2; even though occasionally
the P11 will not hear of the nxnn.

= 99 SN NN 793NT NT DY 19190
And the 02271 relied on this understanding that your friend has a friend,
etc. Therefore eventually we assume that the 1 will hear the 7xnn, even though it is
not necessarily so. The reason is the same; for the requirement to make a nXmn to

undermine the 7P is a 11277 77 (for XN7XTM a 710 does not establish the P*1n as the
P1mn) and the 1321 ruled that even a 1°192 Row 7R is sufficient to destroy the P,

mooin offers an additional example that occasionally the o°25n were lenient when it came
to MY without the 2 nnna NYT:
- YOINN DNN P¥NY 2IN9Y 19591 BY 393 hy1in 199

"1t seems that 7N 1 a 7P cannot be X*X from a Xnp Xm; rather a 0w (or DY) is required. Therefore
the requirement for a 7RMA to be Svan the AP is only 132777, The 1327 were Jpnn that even a Dan3 o1 aXAN is
also sufficient to be van the pm.
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And similarly by a netification which is required to be delivered in the
presence of two 077V, the 02017 were lenient and permitted the 2°7¥ to write
up this 7Y (as a proof for the 011X) in order to save the oppressed from

his oppressor. This was allowed even though there was no 2»nn»i ny7 (the buyer of
this property). Therefore even though generally a 70w must be written 2°1nn7 YN,
nevertheless occasionally (by a 11277 or an 01X) the 0°»or validated a 70w that was not
written 2nnan Ny,

mooin offers an alternate approach to the issue of mavw:
= DY NYT )P NIT PNYY 13529 90N NI

And furthermore says the s'"=9 that a 70w does not require that it be

written with the knowledge and consent of both parties. In reality if 2>7v sign on
a 7w it is a valid 2w even though it was written without the 2>nnni nyT (and [perhaps] a
7vw with only an X"V is a valid 0w) —

= MIVY NPIND 21N NN ONX 1IVY N¥ANT DI NN NXINY

And therefore here he could have brought his "ww to 7''"2 as testimony,

provided that it was written in the correct manner of nyauw —
= N7V 09327 19997 IR 90WN 9709 29N 1INV 29999 NI VAN

However here we are discussing a case where his journal was not written
in the proper order of a =vw; but rather it written merely as a
memorandum,; therefore it becomes disqualified on account of 2an2 ¥dn X9.

To summarize; according to this (last) view if an 7V does not remember the testimony he
may rely on any 70w written in the proper format of a 70w, regardless if it is signed by
one or two 27y and/or if it is written 2»nnn7 NYTA or not. However a self serving
memorandum cannot be used, unless the 7 is reminded of the testimony.

mooin offers a different interpretation of our X°X10:
- 7 NOMYD NN 12392 WY AN P onburesn 1inm

And from the context of the >»>219 770 it seems that this X°3% may be

interpreted in a different manner altogether —
- 213295 13n9% 391 399 X3P 29 ONN NPT

% A v is the process which a seller utilizes when he is being coerced to sell his property unwillingly. He
approaches two 07y before the actual sale takes place and he notifies them that this is a coerced sale, and
the seller intends to nullify the sale when the opportunity arises.

* The previous example showed that we are lenient by (1392 X7w) axm», in general. This example shows
that occasionally 2>°1nni nNYT is not required.

309 %297 7"7 2",
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For it is stated in the "»%u17° that 77''% (who maintains "Axva 7727w XIM')
follows the opinion of 521 (that 2>1°¥» o077 *"n> %¥), and ' (who maintains

that "\nxy»n 77217 1°RW 5"YR') follows the view of the 3339 (that o7 Ywwaw i 2y
o7vn) —

= 90V NYa MYnn 129917 ON INNIHN D”‘Pb DN2 DY TYNAYI VI
The explanation of the °»n%v1 is; when the 2°7» come to be 2p» their

smasnn, if they remember the loan without reading the =9uw, then —
= PPN 1N YOWAY N3N TYT PIVN 19 NN JDNY 98T 7098 PN 29D 1DraN

Even according to 531 it is not necessary to for them to combine with
another outside 7y; these two 0°7v that testify individually on their own

0 is sufficient, for the o»»pni o7y are testifying about the loan. They
remember the loan, and when they authenticate their signatures they are implicitly

testifying that the loan took place.
= 190Y 998D 19987 111 1329 122AN YOVWN 1T DY 1DPAN MIVNN DI PNYI)

However if they cannot recollect the loan even by reading the “ww, then

even the 3129 admit that it is necessary to combine with them another v
who will authenticate their m»n°nn —

- 175 AN HY RIUN PN PN PN Yyt
For we are forced to say that in this instance they are only testifying
concerning their handwriting; however they cannot be testifying about the loan,

since they do not remember the loan even after the saw the n"vw -
= 0WN 2 DY NIYNN DIININTWI 13991 1D 99

And when do "2 and the 7127 argue, in a case where the 27V remember

the loan through reading the "vw -
= 19991 2YUN R %2991 17591 10 1319 DY N995T 3PUN 112994

According to the 3139 this reminding is sufficient to be considered a
remembering and therefore we say that they are testifying concerning the
mm of the m%; however according to "3 this is not considered

remembering and therefore they need to be P 1 TR 7737, This is what the nw1
said that *272 77"9, because they both maintain that “uw:s >"v 77°37 is not a sufficient 77°27.
However 11275 °"9, since they both maintain that 77°37 7nw 0wn "y 7731, According to

3! In the following 2,2 47 mwn there is a NP2 between *27 and the 0°21 concerning Nvw ovp. According
to "21 if each ¥ (merely) authenticates his signature (but not of his partner) a third person must authenticate
both n#°nr, in order that two 2’7y are opn each 7»°nn. The 1127 argue and maintain that if each 7V
authenticates his own signature, that is sufficient. The X713 subsequently states that this argument hinges on
what the 0>7¥ are testifying when they are 0»pn their 72°nn. If they are merely being o°pn their fn°nn then
each nn°ni requires two 0°7v for ovp (the view of °27). If, however, each 7V is verifying the content of the
1vw then these two 0°7v alone are sufficient (the view of the 7127).
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this interpretation "9 and "3 are not discussing the issue of 0an> *on X7 o7°on. Rather
they are discussing whether it is necessary to be pwi 1 IR 77%¥n, when the 27y
remember the incident only through the aid of the n"vw. This would remove (many of)
mdoIN original questions.

However m501n is not satisfied with this explanation:
.59 ywn XY DTN AM9 PYUY

The expression that the X713 uses to teach us this "7, namely a person may
write his testimony on a Y and give his testimony based on this 70w many

years later, etc. does not support this interpretation of the *n%w1. The N of an13
07X indicates that we are permitting for him to write the testimony; not that he is
permitted to testify on a 7ww that he signed. According to the "n%w17 the expression
should have been 131 0°1w 13 TNR? 19708 2N %Y TR 7°¥R; not QTR AND.

SUMMARY

If an 7V cannot remember the testimony even after reading the document
stating the testimony, there are various views in which manner he may
testify that he knows this testimony from the document:

A. He may testify, only if two 0°7¥ sign on the document; i.e. if it is a valid
nw.

B. He may testify only if it is written 2>°1n»7 Ny Tn; regardless if only one 7V
signs on the Ww.

C. He may testify in any case; if it is written N0 NP°N2.

If the 7¥ remembers the testimony after reading the document; he may testify
in 7"32; or alternately he may send this document to 7"2 (according to
mvoIN); w1 however disagrees and prohibits sending any testimony 2n22.

THINKING IT OVER

1. moo1n asked why here is he not permitted to testify 20277 *o» and by n1"ow
AW praw he is permitted to testify 2037 7inn. Why did not nvoin ask
simply from a regular "vw? We accept the testimony of a 7vw; there is no
7101 of 8an3 *o», then why cannot he testify ano7 Tinn?!>

% See ‘Thinking it over’ # 5.
3 See footnote # 7.
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2. mooin asks that he should bring his journal to 7"2.>* Why did not m»oin
ask that he should testify that he saw it in his journal?>

3. Why did not nvon ask the previous question (#2) on the X713 in Mn2,
that the 0°7v should bring the Pu7°P W to 7"2? The answer of '01n (that
Tow 2w 8 Twwa R") will not apply since there it is a 0w with two >7v1*°

4. Can one testify based on what he saw on a handwritten note by the m%?"’

5. mooin asks on the "n?w17° (which states that the np1?nn between "1 1" is
the same as 71271 °27) that the W of 278 2am2 does not coincide with the "o
w1t It is evident that Mmoo understands the "»»w17 to mean that the
Xn>12 (on which there is the npYonn between "1 11""9) is discussing a case of
mvw arp, and therefore Mmoo has a difficulty with the 7w of the xn>92.
However, why cannot we assume that the "2 interprets the Xn>12 (and
the ensuing nNP12mn between "M 1"3 as we do [regarding M7y n7a7]), the
"9 merely adds that the npyomn between "1 7" parallels the np1onn
between *" 1" (as explained in the MpoIN)?!*

3 See footnote # 13.
35 See 7™ w 0"

3 See q™w "

37 See footnote # 24.
38 See footnote # 32.
¥ See v"wA.
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